SDOI2018 Round 2

Day 2
3, -
Problem B. |Hif{& (divsum.c/cpp/pas)
Input file: divsum.in
Output file: divsum.out
Time limit: 5 seconds
Memory limit: 512 megabytes
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(iiid(ijk)) mod (10° + 7)
i1 j=1 k=1

Hrr d(ijk) R ijk BMZEANHL
Input

FATEE —NEBE T, RonfH T A .

BETRT 17, ST AR EE, 5= A, B M C, &8 HR.
Output

XFTREAMAESE, Wb 1T, B8 DB, FoRPREEARIE.

Examples
divsum.in divsum.out

5 11536

10 10 10 51103588

100 100 100 165949340

1000 1000 1000 19234764

10000 10000 10000 176764584

100000 100000 100000

Notes

Xt 30% HI%dE, 1< A, B,C <5000,
B 100% IEHE, 1<T<10,1< A, B,C <10%1<Y max(4,B,C)<2-10%
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